1.7 Exploring Transformations of Parent Functions
The BIG question:  Do transformations of the other parent functions behave in the same way as the transformations of quadratic functions?

1.  Complete the table of values for the three parent tables: [image: image2.png]g(x) = Vx
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[image: image14.png]y = aflk(x—d)]+ ¢




  a 
- vertical stretch/compression



 a "stretch" if ΙaΙ >1


a "compression" if 0< ΙaΙ <1

- reflection in x-axis if a is negative

multiply [image: image16.png]


 by a
---------------------------------------------------------------------------------------------------------------------------------------                                    

k
- horizontal stretch/compression



a "compression" if ΙkΙ >1

a "stretch" if 0< ΙkΙ <1


- reflection in y-axis if negative

divide [image: image18.png]


 by k

---------------------------------------------------------------------------------------------------------------------------------------

d 
- horizontal translation 



left if it is x + a number


right if it is x – a number

(e.g (x+4) means move left 4)

(e.g. (x-4) means move right 4)

subtract d from [image: image20.png]





add d to [image: image22.png]






---------------------------------------------------------------------------------------------------------------------------------------                                       

c
- vertical translation



up if c is positive



down if c is negative

add c to [image: image24.png]



Example 1:  f(x) = √x,   y = 2f(x-3) + 1  

a) Write the equation y = 2f(x-3) + 1 without the f(x).

b) Create a table of values for y = 2f(x-3) + 1

c) Describe the transformations being preformed.

d) Sketch y = 2f(x-3) + 1

[image: image25.jpg]



e) State the domain and range of y = 2f(x-3) + 1  

D: {
R: {

Example 2:  f(x) = │x│,   y = -2f(4x) -3  

a) Write the equation y = -2f(4x) -3  without the f(x).

b) Create a table of values for y = -2f(4x) -3 
c) Describe the transformations being preformed.

d) Sketch y = -2f(4x) -3  

[image: image26.jpg]



e) State the domain and range of y = -2f(4x) -3   

D: {
R: {
Example 3:  f(x) = 1/x ,   y = 4f(-(x+3)) +1  

a) Write the equation y = 4f(-(x+3)) +1 without the f(x).

b) Create a table of values for y = 4f(-(x+3)) +1  

c) Describe the transformations being preformed.

d) Sketch y = 4f(-(x+3)) +1 

[image: image27.jpg]



e) State the domain and range of y = 4f(-(x+3)) +1  

D:{

R:{

